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MOLARITY

1. 5 Moles NaClin 5 liters; what is the molarity of the Solution'i'

a. Draw a picture NaCl dissolving. E M MJ& —L{%
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b. Determine molarity of NaCl. seluhen
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9. 5moles of LINOs dissolved in 2 liters what is the final molarity of the solution? __
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3. How many moles of CO; must be added to *2 Titer fo create a 2 molar soiutlon
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4. 3 moles of Ca and you want to make a 3.2 molar solution. How much H>O do you need’? 1Tk
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5. Need 1.5M solution of NaCl with a volume of SOOmL How much NaCl would you need to welgh
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6. NWeeda?2.5 M solution of Ca(NOs); which is 2.0L in volume. What is the moles a:nd mass needed for

this solution? v, nOve ;‘ M?&f:w =40, g oy
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7. Ina ?aO ml solution of 1.5 M NaOH{q how magy moles ot gg e 2 B
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& 2.0 molar solution of HaS04. If you Qé 2{0 mLIes in your so u‘ﬂonw at 15 the volume?
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9. 1.5 M sohition of HCl. In this solution you have 15 gra.ms of HC! what 1s the volume‘?
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530, Youhave 25 gramis of a chéiical known as Crystal viclet. The molecular wexght is 407.0 grams/mol.
Your lab calls for a liter of .005M solution. Do you have enough CV? How much solution can

actually be made. s
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Modeling Solutions — Practice Name | hr
1. What is wroeng with each of the following equations of electrolytic dissociation?
a. Explain whatis incorrect.  b. Re-write the equa‘uons correctly
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b)  CaBr P> Ca?* +Br g Bra = Cave + 2D

or balanced :
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2. a. Show/draw the dissolution of 2 particles of each substance in a beaker..
b. Use the Molarity to determine the concentration of each ion. :
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(#4-2c)
Dilution

DILUTION:
MOLARITY: * VOLUME: = MOLARITY, * VOLUME » (MiV1=MzV2)

1 =before 2= after

e NOTE:
e Make sure you
V. = equals total volume. Starting

Mﬂ Vﬁj = M@Uﬂ&

are consistent with the units used in your equation.
volume plus added volume.

PRACTICE PROBLEMS: :
1. 6M STOCK SOLUTION OF HCL Your experiment calls for W How much
6M HC! is need in this dilution? :
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2. In an acid spill, 15L of Concentrated Sulfuric acid (}L@’@.needs to be diluted. If all this acid

is diluted down to 2.0 M. What is the ending volume?

) om) =2

2 24
iel"s

dto 1 liter of O, What is the new concentration?
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4. A solution is diluted down from 100 mL to 1L and the ending concentration is .11\271. What is
the original concentration? DO ML :
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5. Tow much water is addedlto a solution that is 50 mL of SM if it needs t0 ‘be diluted down to 2
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Solubility and Concentration Practice Name hour
Obj: | can determine solubflity of 2 saltor gas on a solubility chart. 5
Obj: | can calculate Molarity, amount of solute, of amount of solution using M=mol/liter. ; _Lf:‘ﬁ
100 1. What is the solubility of NaCl at 90°C? 100 '%’ .»&(bﬁ 2
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&0 2. At what temperature wall f{) grams of KCIOs
dtssoive to make a saturated sciutlon?
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i 3. What substance on the graph is most soluble at
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4. A solution becomes satﬁrated when 58 grams o
solute is added to water at 80°C. Using the graph to th:
left, determine the compound that is most likely the '

solute. M: C ritfd.
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5. A solution contains 50 g of CaClz in 100 mL of water at 20°C. How much mofre CaCl» can dissolve at t

temperature in thls amount of water? G5 :
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6. Calculate the addlttona1 amount o% solute that coﬂTyd be dlsso vad in a solution of KCIGs at 70°C

compared to a solution of XCIOs at 30°C. “’% i' L :
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7. What is the maximum amount of Pb{NO3)> that will dissolve !n 1 @ Lat 40°C‘-’
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8. What is the molarity of a solution W|th 1.1 moles of NaClin 3.5 liters of Smmlon:’ show your
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9. How many moles of NaCl are in 620 mL of a 0.5M solution? Show your calculation
Bl A

}{ Vlibg .
- = {,3)% ME? U&QE
M_ﬂ_—a

OSMT Bpaor ¥F
10. What is the molarity of a solution if 25 grams of Pb(NOz): are dissoived in 243 mL of solution? Show
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11. a. Use the graph to determine the solubility of Ce2{S0a4)3 at 10°C. & E‘HQL KE‘:{;:%J
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b. What is the molar mass of %ez(SOz;)g? Showyour work. 55 3 & Sy b il
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c. (Assume that thle volyme is O 1 Liter of solution) What is the molarity of the solutlonlllijaj___,
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